50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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1 a. How does packet switching performiybetter than message swi%ﬁﬁﬁxg? Explain with an
example. ' (08 Marks)
b.  What is count-to-infinity proble (06 Marks)
c. What is flooding? What are (06 Marks)
2 a. Derive an equation for packet ﬁushmg time in Waltgd Fdir Queumg (06 Marks)
b. Write the steps of Dijik algorithm. Give an e ple. (08 Marks)
¢. Suppose that ATM ive at a Leaky buckc@ r at times t = 1, 2 3,5,6,8,10, 11,
15 and 17. Assum s 4and L = 5. Plot buckt‘a} cOntent and identify non-conformity cells.
‘ (06 Marks)
3 a Identify the cla&;@s 6f following IP-addre;
114168.70.5 (i) 199#183.5.81
0.0.99 (iv) 192. 68.72.1 (04 Marks)
b. netting? Explain with"an example. (06 Marks)
c bnet address for the %‘%0 100.12.176 co 7-bits for host address.
(04 Marks)
d. Compare and contrast IPV, with I (06 Marks)
4 a. What is a silly window ome? Propose itsé'@ (06 Marks)
b. Explain the working o 3 F (06 Marks)
c.  What do you mean by, miilticasting? How, loes e ing? (04 Marks)
d. What is DHCP? Where is it applied? * ™% o (04 Marks)
5 a. How does an address mapping wotk in DNS? Discuss thé"two methods. (08 Marks)
b. What is phe protocol used to tr: it a file? What aﬁ%he steps in it?. (06 Marks)
c. Write ﬁg%e on: (i) SNMP, (i) Digital signature. (06 Marks)
6 ‘do'you mean by Q <plain QoS archltpcture in integrated services. (08 Marks)
Wh@t are the advantagﬁ) N? How is Egnelmg work? (08 Marks)
? Disguss ts packet desi (04 Marks)
7 kHz is sampled, at Nyquist rate. If the result is modeled using any
, 0, 1, 2] and/¢orresponding probabilities [0.05, 0.05, 0.08, 0.30, 0.52]
CNLrC y (06 Marks)
- What is th&putpose of RTP? D@s the design of its packet. (06 Marks)
€. Explain the “steps of Huffman encoding and perform Huffman encoding for a source
generating {a;, ay, as, m,»éwith probabilities {0.52, 0.3, 0.08, 0.05, 0.05} respectively.
(08 Marks)
8 a. Discuss the classification.of routing protocols in Adhoc-Network. (04 Marks)
b. What are the secy,rltWVulnerabllltles in Adhoc-Network? Explain different types of attack.
(08 Marks)
¢.  Write a note - Zigbee technology. (i)  Clustering protocols. (08 Marks)
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